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L. Answer all the questions by choosing the correct answer from the given 4 alternatives ~ 20X1220

4. Write question number, correct option and corresponding answer
3. Each question carries 1 mark

| #]
| tan-

1.If A= Y .and AB =1;, then B=

i
_tlh_: |

(1) {eos* ‘:J A (2] (ms‘:)ﬁ (3) {cos® B)1 (4) [5111’ ﬁ’l A

Z.lfx‘f'-—e".x";he‘..!._:r: El,ﬁﬁ l: ':l.ﬂfl: I;l then the values of xand y are respectively,

(1) cl82/81) @380 (2)log(a1/ A3 ), log(82/83)  (3)log(A2/ 81 ) log(A3/A1)  (4) €AV, D
3. The solution of the equation |z]-2= 1+ 2i is
;-2 2)-2+2 321 (#)2+3
4.Ua,f,and y are thezeros ofa + px’ 4.qu+ T, Jﬂ"‘IT*tﬁ
4 _? Q 4
(1)} (@)= OF -2

5. sin"*{cos x) =§- xis valid for

(1)-nsxs0 (2)0sxsn (3)-3sxs3 {4]-%5153-:-
6. The circle x* + y* = 4x + By + 5 intersects the line 3x - 4 y = m at two distinct points if

(1) 15<m <65 (2)35<m<85 (3)-B5¢m<-35 (4)-35<¢m<15

7.1f 3,b, & are three non-coplanar vectors such that 'a'u['ﬁ:i:'}=% .then the angle between 3 and b is

(1)* @ (3) Ok

8. If the line — —'_— "Iliesmtheplmxﬂy -az+f=0,then(a,B)is
(1)(-5.5) (2)(-6.7) (3)(5.-5) (4)(6.-7)

9. The point on the curve 6y = x” + 2 at which y-coordinate changes 8 times as fast as x-coordinate s
(1){411) (2) (4-11) (3) (-4,11) (4 (-4-11)

8 L U

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

_TI_ P ADDTON M itle 1 & W
10. The approximate change in the volume V of 3 cybe of ig
aL 1 5104

(1) 03xdxm” (2) 0.03xm? (3) 0.03xmy?
Ff(x) = —, then its di
L11f(x) = —. then its differentia) is given by
. -1
(1) e g ‘
(o) (2) e (3) dx
12. The m]ueafju'l—;ﬂmnig
"
(1): (2)m 32
i

+3.The order and degree of the differential equation YSin X(dx + dy) = veos x{dx - dy) is
(11,2 (2)2.2 (3)1,1

* X metres caused by increasing the side by 1% 15

(4) D.03x

(4) &

{4} 2n

(42,1

14.1fin 6 trials, X is a binomial variable which follows the relation 9P(X=4) = P[X=2), then the probability of succes

(1)0.125 (2)025 (3)0.375
15.lnlhesctheﬁneaElh=a+h+ab.Furwhatvalueafy.SE)[yEJS]ﬂ?
=2 -=3 -3
(A= @y=3 B)y=7
18 arg(z") =
(1) (arg 2" (2)nfargz) (3) arg (nz)
17. 116% - 25y° - 44x + 509 - 256 = 0 represents
(1) circle (2) Ellipse (3) Parabola
18 Siope of the normal to the curve y = 2x%+ 3sinxat x=0 is
(13 EVeD M o)
3 1 - e
19 [ — dx=
 § |
M @5 37
20. 44,5+
(1)2 (2)3 (3)9
PART - 1I
1. Answer any 7 questions
2. Each question carries 2 marks
3. Question number 30 Is compulsory
, cos® -sinB
21. Prove that |7 " | Isorthogonal
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(4)0.75
(4)y=4
(4); a2

(4) Hyperbola

-

Ok

(4) 20
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24. Two fair coins are tossed simultaneously Lequmlrnmaﬁlrm’ﬂﬁmdm] F‘mdﬂwp‘mbahalm, mass

for number of heads occurred
faand b.
23, If the vectors ai + il"!"fi i+k .]ﬂdd-l'q-l-bﬁmmp{m Wlm:umgmtm!ﬂﬂ a

person int days after learning is
26, A Inarnll[mmrﬂﬂnrunE@hhmﬁ:uummg!wmmpmnnrmmbﬂﬁ N ﬁrdﬂww
m"h?wilﬁ-lﬂﬂ!h 0.40)%,0<t<10. mmmmuuwh!chﬂ:epemnhr:eﬁ wo

learning? =
27. Let glx) = x° + sinx . mmmu

=
. |

28, Evaluate: f_gu:tms"xdl - >

29. Find the equation of the tangent at t = 2 tothe parabola y* = 8x -
existend
30. Let M = [[: :]lEl ['J}lmdht « be the matrix multiplication. Hts&nﬁdmﬁa If s0, examine the

-

of identity, existence of inverse properties for the operation + «on M.

PART -1l

1. Answer any 7 questivis
2 Each question carries 3 marks
3. Question number 40 is compulsory _
31, Find the squareromtof6-81. (= .o - U2 ) pg
32. Solve the equation 9x* — 362% + 44x - 16 = I}Hﬂwmulshrmznandimmcpmgmﬂuu.

33, Find the value of tan” (1) # cos™ (3} #sin (=3
34, Show that the straight line x4 1 = Zy = =122 and x =y + 2 = 62 — 6 are skew and hence find the shortest distance

35, Find the absolute extrema of e following function on the given dlosed interval : f(x) = 2cosx +sin2x; [0,%]
36. Let U(x,y,z) = x* = xy + 3sinz ,x,y,z € R.Find the linear approximation for U at (2.-1,0). f

37, Evaluate : L’ Ed:

38, Solve the differential equation: & + % = < , given thaty = 2 when x = |
A CHIY Mat /3

[
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0 1 M q
39 Let A [] :}' g lo 11 De anY two booleay matrices of the same type. Find AV Band A P

4 Solve by determinant method - Sy » X =17 3es Ty =3 : .

PART -I¥
7aa=Ja
L Answer all the questions
2. Each question carries 5 marks

123
11 2] Find the inverse by G auss-Jordan method I:-: 5 ]I

108
(OR) | SV .
bHF2 4+ 1 and 3 - 7 are the roots of the equation o — 13x° + 62x* - 1268 + 65x° +127x~ 140 = 0. Find all root
ﬂl]H'Iﬂ“"!qﬂlhunulthrnn:!-ethruuﬂil.h!puinu{l.ﬂ].[*-l.ﬂ]mdfﬂ.ﬂ- \ @)
(OR)

b) Find the intervals of monotonicity and local extrema of the function I'[:]=1T:;-' } A
43.3) Find the area of the region in the first quadrant bounded by the parabola y* = 4x, the line x + y=3and y-axis

, (OR)
b) A random variable X has the following probabtity mass function.
EERE Yy I\ U 11T V] .
Ll f(x) |' K | & kS & E f 1 *
Find (i} thevalueofk () P{2<X<5) (i) PE<X)
44.2) Show thatthe polats 1,5 +1%, and 2 - 12 ae the vertices of an equilateral triangle
( L\ (0R)
b) Find the number of solution of the equation tan™ (x - 1) + tan™" x + tan™"{(x + 1) = tan™*(3x). LS L1D
is.:}mhymmuut[ﬁﬁ]:mumammsinﬂ. b
' (0R)

h}ui Ulxy) = e*siny, wherex = s’y = st s ,t &R . Find E,:—".mdml-u.atz ﬁﬁats=t= L

ﬁa]sum[.l+3¢5)dy+3=§(1_—5}d::n.y.reu:hr;=uwm=1 ¢ )
al 'il: - L F et

v L4 -1

3
3% oy

b) Using the equivalence property, show that pq = (pA g}V (pA-~g). ~
-ﬂ.i}‘_f‘hdrh:mg&hﬂm y=rland y=(x-2).

(OR)
B) Find the vector and cartesian equation of the plane containing the lines % = 2 == and

Fl_y-4 s
-1 1 %

) CHAYMat /4
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